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[ Use separate Answer Book for Group-A and Group-B ]

Group - A ( Marks : 50)
Accountancy
Part - I

@A-@E @6 AEF &g 1 20 x 1 =20

( Answer any one question. )

1. Abhi, Dodo and Sohom are three partners of a

firm who share the profit or loss in the ratio of

B.Com.-114-Y [ Sie= *Bra w8y

ECO-I (UT-278/15) 2

3 : 2 : 1. Their balance sheet as on 31.03.15 was

as follows :
Balance Sheet
Liabilities Rs. Assets Rs.
Capital A/cs : Building 1,75,000
Abhi 1,50,000 Plant & Machinery 1,77,000
Dodo 1,20,000 Stock in trade 95,000
Sohom 1,00,000 | 3,70,000[ Debtors 60,000
General Reserve 50,000| (-) Provision
Sundry Creditors 95,000 for doubtful
debts 2,000 58,000
Bank 10,000
5,15,000 5,15,000
Dodo retires from the business in the following
terms :

i) The goodwill is valued at Rs. 70,000

ii)  The Plant & Machinery is to be depreciated
at 10%

iiij The value of stock-in-trade is to be
appreciated by 20%

iv)  The value of building is to be appreciated
by 10%

\Y| Provision for Bad debt is to be maintained
at Rs. 5,800

vi) The amount due to the retiring partner
(Dodo) is to be transferred to his Loan A/c

vii) The remaining partners will share the profit
in future at 3 : 1 ratio.

Show the Journal entries, capital A/cs and the
new Balance Sheet.
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From the following Receipts and Payments A/c of
the 'Kolkata Town Health Society', prepare the
Income & Expenditure A/c for the year ended
31.03.15 and the Balance Sheet as on that date.
Receipts & Payments A/c
for the year ended 31.03.15

Receipts Rs. Payments Rs.
To Balance b/d 5,000| By payment for
" Subscriptions 75,000 medicine 30,000
" Donations 20,500| " Honorarium to
" Interest on doctors 15,000
investment @ 7% 7,000 " Salaries 32,100
" Proceeds of " Equipment
charity show 15,000 purchased 22,000
" Expenses for
charity show 7,200
" Sundry expenses 2,500
" Balance c/d 13,700
1,22,500 1,22,500

Additional information :
1.04.14 31.03.15

Rs. Rs.
Outstanding subscription 500 1,000
Advance subscription 1,000 500
Value of equipment 21,000 45,000
Value of buildings 40,000 38,000
Unused medicines 10,000 15,000

Part - II
-] W6 &3 Ted | 12 x 2 = 24

(Answer any two questions.)
On 1st January, 2015, Suresh from Kolkata sent
400 boxes of tea to Samir at Delhi @ Rs. 350 per
box. Suresh spent the following expenses :
Freight — Rs. 2,100 and Insurance — Rs. 2,500.
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After receiving the boxes at Delhi, Samir spent
the following expenses :

Landing charges Rs. 450; Godown rent
Rs. 1,500; and advertisement Rs. 2,500. Samir
accepted a bill of exchange of Rs. 10,000.

Up to 30 June, 2015, Samir sold 350 boxes
@ Rs. 940 each out of which 10 boxes were sold
on credit. He is entitled to get ordinary
commission @ 8% and del credere commission
@ 2%. Bad debt was Rs. 500. Samir paid all dues
to Suresh by a bank draft.

Show the Ledger accounts in the books of
Suresh.

'Accounting concept' € 'Accounting convention'

SN SICTIH] P |

Discuss 'Accounting concept' and 'Accounting

convention'.

ABC Ltd. issued 5000 equity shares @ Rs. 10

each payable Rs. 3 on application, Rs. 3 on

allotment, Rs. 2 on First call and Rs. 2 on Final

call. All the calls were made by the company and

the amount was duly received except the

following :

i) Mr. A holding 300 shares failed to pay
allotment, First call and Final call.

i) Mr. B holding 200 shares failed to pay First
call and Final call money.

All these 500 shares were forfeited by the

company after the Final call was made.

Show the journal entries for forfeiture of shares

and if the forfeited shares are reissued at Rs. 8

each.
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Part - III

@ @6 AFT Ted M1 6x1=6

(Answer any one question.)
6. ‘feIRfEN b F 2

What do you mean by 'Accounting cycle' ?

7. INME FREAE@ HAfe IR e ufT  fNEs
ANYLFrfeT 1Y |

Distinguish between Current Account and
Drawings Account in case of partnership
business.

8. IS *IFK FT 2T 8 I ?

What are the different types of preference
shares ?
Group - B (Marks : 50 )

Mathematics

e — =

@@ @6 AT Ted | 20 x 1 =20
1. @ I Y=y* T WRE ®@WEF &

X X
= X
(i)yw&f @2 @ A IM x=2y TW
OIRET N [ ([ y=2. 5
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ax?+bx+c=0 ANFHT Qv A
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[&we : (1.06)2°=0.3119 | 6

@A @A x% +y? —2x+2y-7=0,
x2+y2—6x—2y—15=0 QR
x%+y?-8x—-4y-29=0 I6 fAMD
@Fweler ANEL @R AP TG A

@ ice =R | 6
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()

g Lim [x—\/Bx—Q}
x—2 X2 _4
. 2
(i) Lim x~ -1 3+3

X—)llogex'

6. () @ e AR BAF (4, 2 ) @R
(8, 2 ) @R TFWS 2 TE, 2F[EHI
AR el e | 6
R)  y?=4dax SEREly qfes @ ol
ARREHE  (x;, y)) GR (x,,y,) O (2
DE| @ @ x)x, =a’. 6
et — o
@I @B 23T Ted il 6x1=6
d
7. d—iﬁ@fﬁwmﬁmy=1og10(2x+,/1+4x2].6
2
1
8. I ey e - J' %8 ™ 6
1 (1+1log, x
9. M u=2x>+4xy+8y’ OR M @
au ou
6x+y6 =2u. 6

10. %6 R O] 12 BT SR [ RIS
TRAMBA GoFETd 7w [ el e | 6
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1. (a)
(b)
(c)
(d)
2. (a)
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Group - B ( Marks : 50 )
Mathematics

Section-A

Answer any one question. 20x1=20

x x_4
If x¥Y=y*, show that (g)y =xY and if

further x =2y, prove that y=2. 5
If x> —%oc x3 +%, prove that xo L. 5
y y Y
Show that
1 1 1

=1.5

T+1log,(bc) « 1+1og,(ca) ' 1+ log,(ab)

If one root of the equation ax’> +bx+c=0
is twice the other, show that 2b% =9ac.
)

If the p-th term of an A.P. be é and the

g-th term be %, show that the sum of the
first pg terms of the series will be

1
E(pq+1). 5
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(b)

If the equations 3x2+4mx+2=0 and

2x2 +3x-2=0 have a common root, find
the value (or values) of m. 5

2+43 + 2-V3 . 5
2442443 J2-y2-43

If 0 < x < 1, show that the coefficient of x33

Simplify :

in the expansion of log,(1+x+ x2)
. 2
will be — 33 S
Section-B

Answer any two questions. 12 x2 =24

Find the term independent of x in the

9
expansion of [2x+%] . 6
3x
A candidate is required to answer
9 questions out of the questions which are
divided into two groups each containing
7 questions and he is not permitted to
answer more than 5 questions from any
group. In how many different ways can
9 questions be chosen ? 6

A straight line forms a right-angled triangle
with the two axes of coordinates. If the area
of the triangle is 84 square units and the
length of the hypotenuse is 25 units, find
the equation of the straight line. 6
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(b)
5. (a)
(b)
6. (a)
(b)
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A person purchases a house whose present
price is Rs. 3,00,000. The person pays
Rs. 2,00,000 at the time of purchase and
agrees to pay the remaining amount in
20 equal half-yearly instalments at the
compound interest 12% per annum. Find
the amount of each instalment.

[ Given that (1-06)™2° =0-3119 | 6

Show that the centres of the three circles
x2+y2—2x+2y—7=0,
x2 +y2 -6x—-2y—-15=0 and

x2 + y2 —-8x -4y -29=0 are collinear
and the three radii are in A.P. 6
Evaluate :
o Lim [x—JSx—Q}
x—2 X2_a
(i) Lim x“ -1 3+3

The coordinates of the foci of a hyperbola
are (4, 2 ), ( 8, 2 ) and its eccentricity is 2.
Find the equation of the hyperbola. 6

A chord of the parabola y2 = 4ax passing

through its focus intersects the parabola in
the points (x;,y;) and (x,,y,). Show

_ 2
that XX, =a”. 6

RSEREERE

ECO-I (UT-278/15) 4

10.

Section-C

Answer any one question. 6x1=6
Find j—z where y =log,, (Qx + \/ 1+ 4x2) . 6

log x
Se dx. 6

2
Find the value of I
g y

1+log, x

If u=2x2+ dxy + 8y2 , show that

ou ou _
xax+yay—2u. 6

Using differential calculus, find the greatest
value of the product of two numbers when their
sum is 12. 6
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